C:# Finding Radicals on a Numberline

Name:
Deter mine which letter on the numberline best representstheradical. Answers
1y 6 7 8 9 10 11 12 )
N “—o0—1+0 : o1 o : .
117 a b c d
2.
2) 9 10 11 12 13 14 15 ,
Nz “<“—o0— o o o : -
116 a b c d
4,
3) 7 8 9 10 11 12 13
~/124 « : to : O+0 : o> 5
a b c d
6.
4) 2 3 4 5 6 7 8 ,
A/ « O —O } —O } } o—>
o8 a b c d
8.
5 5 6 7 8 9 10 11
T2 « : —o0—F+—o0—+—0——0 : S
a b c d
10.
6) 1 2 3 4 5 6 7
NE <o Lo : : o o TS
33 a b c d
7) 3 4 5 6 7 8 9
A/ « +O } O } O O >
17 a b c d
8) 1 2 3 4 5 6 7
NG «+—O0—+—0—0 : : e 1g
a b c d
9) 0 1 2 3 4 5 6
N <o : : ot o—o—1»
30 a b c d
10) 1 0 1 2 3 4 5
N <o | o o Lo >
18 a b c d
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Finding Radicals on a Numberline Name: Answer Key
Deter mine which letter on the numberline best representstheradical. Answers
1y 6 7 8 9 10 11 12 )
A/ <“«+—0—+o0 : o o ! :
117 a b c d
2.
2) 9 10 11 12 13 14 15 ,
NI “+—o0— o— o+ T — : :
116 a b c d
4.
3) 7 8 9 10 11 12 13
~/124 « : to : O+0 : o> 5.
a b c d
6.
4) 2 3 5 6 7 8 ,
A/ <«+—o0o—+o0 : o ! : o—» :
58 a b c d
8.
5) 5 6 7 8 9 10 11
NG « : —o0—+—o0—+—0—+0 : S
a b c d
10.
6) 1 2 3 4 5 6 7
N o HO : ! o o— >
33 a b c d
7) 3 4 5 6 7 8 9
A/ « +O f O } O O >
17 a b c d
8) 1 2 3 4 5 6 7
NG «+—O0—+—0—0 : : e 1g
a b c d
9) 0 1 3 4 5 6
A/ <o : | o oH—o—+»
30 a b c d
10) 1 0 1 2 3 4 5
A/ 0 ! : o—+ o—1 o TS
18 a b c d
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